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QUESTION 1

What information can be found in the SAS Dictionary tables? (Choose two.) 

A. datasets contained within a specified library 

B. values contained within a specified format 

C. variables contained within a specified dataset 

D. values contained within a specified variable 

Correct Answer: AC 

 

QUESTION 2

Given the following log entry: 

Which SAS system option adds the blue highlighted lines to the log? 

A. INFO 

B. MSGLEVEL=I 

C. INVALIDDATA=\\'I\\' 

D. NOTES 

Correct Answer: B 

 

QUESTION 3

A SAS program is submitted and the following log is written. 
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What is the cause of this error message? 

A. The ARRAY declaration is syntactically incorrect. 

B. The IF statement is syntactically incorrect. 

C. The DO loop tries to get a value from a variable which does not exist. 

D. The IF statement tries to get ARRAY elements which are not declared. 

Correct Answer: D 

 

QUESTION 4

Given the following data set DEMOG: 

Which selection below would be considered hard-coding? 

A. if sexcd eq 1 then sex = "Male" ; else if sexcd eq 2 then sex = "Female" ; 

B. if site eq 1 then sexcd = 2 ; else if site eq 2 then sexcd = 1 ; 

C. if site eq 1 and sexcd ne 2 then check = 1 ; else if site eq 2 and sexcd ne 1 then check = 2 ; 

D. birthdt = input(dob, mmddyy10.) ; 

Correct Answer: B 

 

QUESTION 5
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Identify the CDISC model with the following characteristics: 

?XML-based content and format standard 

?facilitates the archive and interchange of the metadata and data for clinical research 

?provides an accurate audit trail that is 21 CRF Part II compliant 

A. Analysis Data Model (ADaM) 

B. Operational Data Model (ODM) 

C. Study Data Tabulation Model (SDTM) 

D. Trial Design Model (TDM) 

Correct Answer: B 
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